
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  

  

  פתרון בחינת הבגרות באנגלית

  

  ג' שאלון

)MODULE C(  

  

  403, 016104מספרי השאלון: 

  'בגרסה 

  

  מוגש על ידי:

  וארז צרפתיחגית דמרי ענת זהבי, 

  מורים לאנגלית ברשת בתי הספר של 

  יואל גבע

  

  הערות: 

 התשובות המוצגות כאן הן בגדר הצעה לפתרון השאלון. .1

תיתכנה תשובות נוספות, שאינן מוזכרות כאן, לחלק  .2

  מהשאלות.

 



 



 



 



 

(Because) Cateura is a poor place where a real violin costs 

more than a house. 

(Because) it uses objects collected from the garbage to build 

instruments.

They collected things from the garbage to make (more) musical 

instruments. 

Local musicians agreed to teach the children to play the various 

instruments.



 

√ 

√ 

 תשובות נוספות- ראה נספח נוספות- ראה נספח

Enviromental organizations use this project to show people a 

creative way to recycle garbage.



 

 

  

  
  
  
  
  
  

  
  

  :8שאלה 

They / People know that poor children can contribute to society. 

  

  נספח

  'גשאלון  

)MODULE C(  

  תשובות אפשריות נוספות

 




